<1 EHT R K>
1. B0 - DK

[ ] OEROEK

— iR —

(1) +2 2) —6 (3) —3 (4) +3

(1) 7t_7 (2) _5‘ _4s _3s_2s_1\ 0\

1. 2. 3. 4.5 (3) 2000 HOXH (4) 10km E

(1) —9<—6 (2) —%<—5<—% (3) —%<—0.12<—0.1<0<0.1<%
[#E] @k - Wik
1) -7 @ -6 (3) —% @) +9 (5) -11 (6) —}—3 (7) -16 (8) 0
1) +1 @ -4 3) -1.7 @ -1.8 5 0 (6) -7 (7) -% (8) %
[HE] OFlE - KRk
(1) 12 2) —24 3) -4 (4) % (5) —4 (6) —% (7) -36 (8) —4
M) -1 @1 3) 16 4 3 ()5 (6 8 (7) —% (8) —%
[FHE] @QUHNREESFE - BHOES
(1) =9 (2) =14 3) 40 @) 5 (5) 2 (6) -1

T e | 3 PN AR a—b axb a+h

He% | O X 0 X

L T T o TS
Ek O @) O @)

[#E] OnaEY
(1) 1. 2.3 (2) —1 (3) 3kg#m 21 (1) 0 () 175 (3) 0. 0.2, _f 175~ 3. —3.6

(1) —10 (2) -10 (3) % @) -1

41(1) 33m (2) 148/

(1) a:—, b:+ (2) a: —, b:— |6

A=—6, B=8, C=—1, D=3, E=—10

Se HeEmtsEnT



<L EBIT A RIS
[E] ©RaEE (S

112 =3 3 0 @) -50 (5) —% 6) 4 (7) —18 (8) % © 2 (10) -5

L 3 13 1565

(1) 1118 (2) 14 3) —2 (4) a—b:IE, axb: & (5) 0. 3= 1%

(1) 9em (2) 7em (3) 16lem |[4|(1) 84 (2) 7E (1) 17°c (2) BEEHEKER (3) 11°C

[E] O - WIRT 2 b PRERERE

(1) O+3 @9 @2 @D+6 (2 32 @45 @0 (3) 1114

4) A:—4 B:—175 (% _Z —1—) C:—025 (mi—%) D:3.75 (X!:‘E—%J%)

N 49 5
(1) —0.65 (2) To (3) 5
1) =2 (2) -4 3) =6 (4) +3 (5) —3 6) —48 (7) —% 8) +2 (9) -+ (10) +W

(11) =27 (12) +27 (13) +26 (14) +10 (15) -4 (16) —144

(1) 10 5@V (2) 164 (3) 78 5%

1)@ @®Q Qa:+,b:+ @a:+,b:— 3 O -6 @27

Se HeEmtsEnT



<1 EHIT A RER> —fR%—

2 7L

[5E] OXFfiH

(1) 6x 2) —a 3) -a’p> (4) % (5) —= (6) ic (7) (a—b)’c* (8) —m;"

(1) =3 (2) 26

(1) »b—350a (M) (2) H#ii“a—okm (3) x+++160(cm) (4) 2(ab+bc+ac) em?

[E] @35 ADFHE

1) -2x (2) —3x+2 (3) _23 (@) 2427 (5) 4x—=2 (6) ——— (7) 5+2x (8) —5x+17

S
3 12 1 4x

(1) —8+24x (2) 4x—5 (3) —6a+9 (4) 4x+13 (5) XLl (5 x+3

15 3

[EE] @3 F DRI

(1) %(cmz) (2) 350a+400b+c(F) (3) 100x—8y(cm) (4) 12a+b(&)

(1) 3x+50y<z (Xi%xz-(Bx+50y)>0) (2) 8a+120b6=1500

SO

[7EE] @Ok

(1) -abe (2) 0.1a—% (3) 3 (4) _(x+y)y (5) 6x—2 (6) _5(x;2y)

a(b—c) 3 -

1 4 3 s

(1) —2x-8 (2) To%+Ts (3) 4x-2 (4) —4x+2 (5) —20a+12 (6) - TS
(7) 9x-3 (8) da—6 (9) 1222 (10) =2

(1) 12 2 14 3) -7 (4) _g

&F)5a -5 F)7a+1

(1) 22 (@ () 10c45 (3) 702800

(1) ab+c=40 (2) 300(”1%):350 (3) x—5p>12

Se HeEmtsEnT



<1 EHIT A RER> —fR%—

[ ] @feaiE OSH)

4 (3) bea-3) (4) ——4Fb _(5) 41 (6) 3 2

2 X —
(1) x*yz (2) - 3a-b) Tz xp(x—4y)

3

(1) (a=b)+(a+b)-3xa (2) 3><x—%><y><y (B) 1+x+(x—yp)+(x—y)

(4) exexce+2+a+b—axaxb=c+c

1) 16 2) -22 (3) -3 4) -4

6 2

(1) %(cmz) (2) @(cmz) (3) 7f4r’ (em?) (4) 6a*em?) (5) 6x+y (6) 100a+20+b

(1) =8x+4 (2) 5x—6 (3) 2a-1 (4) —2x-12

[ ] ©FF - WIRT 2 b PHERERE

(1) %m (2) (840—120a) M

()& :3x, —y ()38 : a, 5b, —4 (3) & : %,—%y
{%ﬁ - X 0)1?&%1(1 3 %ﬁ - a 0)%&(1 1 ) l _i
e s s Rl ORBIE Ly sz
() =3¢ @) ¥z () b @ == () £ © 2"2‘y (7) —x—8y

(8) —"g” (9) (y-3)

(1) —1xx—5xxxxxy (2) (a—b)+3 (3) a+b=+c

1) —5x (2) —a+1 (3) %H% 4) —x—1 (5) 15x (6) 9a (7) —8x+12 (8) —16x+8

9) —2a+2 (10) —4x+6 (11) x+1 (12) 2’“3‘1 (13) 6 (14) —7x—13
1) 62 2Q3) 6 7] (1) 9a-8 (@) —a-10

(1) 50a+80b=c (2) 100a—5b=c (3) b=% (4) m=3n+1

(1) 8x+4y=3 (2) 5—6a>0(RXI&L5>6a) (3) 4(x—2)<30 (4) a<8b(RXIE a—8b<0)

Se HeEmtsEnT



<1 EHIT A RER> —fR%—

3. iR

[#E] OG5

(1) 5a=8p (2) b=30000f~f%))

®

B x=1 @ x=-4 @) =2 @ x=1

[E] @FRADMET

(1) x=-5 (2) x=2 (3) x=-3 (4 x:%

(1) x=-5 (2) x=-20 (3) x=2 (4) x=-1

3

(1) x = (2) x=2 (3) x=-5 (4) x=-17

[E] @B - RO

(1) x=9 () x=15 (3) x=15 @) x=-2 (5) x=5 (6) x=9
(1) a=2 (2) n=5 (3) x=7 (4) m=-4

[#E] @HFEKXOEH

9 28318 3|93 4| SE# 5| 6km

[EE ] OEHEHE

(1) x==5 (2) x=3 (3) x=8 (4) x=1 (5) x=2 (6) x=—1 (7) x=3 (8) x=6

(1) x=5 (2) x=3 (3) x=1 (4) x=6

(1) a=-1 (2) a=1

34

10 534

17

Se HeEmtsEnT



<H L EBIT A MRER> —fiE—

[#E] @ - HIRT 2 b FARREEE

(7)., (1)

(1) MalzALCRXOHEZEMEZTHLERX IR YLD,

(2) MAZ 0 THVRALBTE>THFEXRXAY IO,

(1) -5x+3=13 (2) 4x—-2=x+4
—5x+3-3=13-3 (@i@hd 3 %3I<) 4x—2-x=x+4-x (LA > x £3/<)
—5x=10 (%) 3x-2=4
-5 -5 3x=6
x=-2
37":% (TDE 3 THD)
XOBAFUTDOLSZLTH KLY,

x=2
HEEH=7EY XOBAEUTOLSI2LTH &L,
dx—2+2=x+4+2 (WBIZ2%MZ3)
4x=x+6
dx—x=x+6—x (@AM x %5|<)

(1) x=2 () x=-8 (3) y=—1 (4) x:-% (5) x=2 (6) a=1 (7) x=-4 (8) x=30

(9) x:—%—(u» x:%} (11) x=15 (12) x=18

a=5 6180 M 7110 9 8120 &

Se HeEmtsEnT



<HLOEMIT A MRS R
4 il & S
[5E] OB

D:y=4x Q@ :y=1000—50x @ :y=30—2x

(1) 0=x=12, 125y=60 (2) LWxd (3) LWZB (4) y=12+4x (5) %(4.5)%&

[7EE] O

m. @. @ [2] @ [3]® y:—%x 2) y=6 (3) x=-2

3
[FE] @eplo s Z 7 Q. o
4) r
X
5 1 (3)
(1) y=2x (2) y=-3x (3) y=y4x (4) y=—3x
(1) y=%x (2) y=9
[#E ] @ Ebp
@, @, G, ©® (2] DO [3] 1) y==F @) y=F B) x=-9
[E8] GKLEID 7S5 7 (4 @), (0 3
F1x]
2 6 4 _ 12
(1) y—? (2) y—; (3) y——gx (4) y= x o >
_8 _4
(1) y=- (2 3
(5] @xvaEE
1 @)
(1) y=3x (2) 3 3) A=—9, B=—3, C=0, D=3, E=9 (4) —18<y=24
__8 _ _8 p_ _— _— __8 _16 3
(1) y= . 2) —8 (3) A 3+ B=4. C=—8, D=—4, E=—7 (4) 9§y< S
(1) y:—% 2) B(=2.—1) (3) C(6,—1)
(1) y=-3x () —125yS6 () y=—6 @) L ses- L

_48 -
(1) y—T (2) y=3

(1) 8 (2) 16

(1) y=6x (2) 0=x=4 (3) %fm

Se HeEmtsEnT



1 2 RIS — s —
] OaEE OoH)

(1) Y=%-(2) y=2x+4 (3) x=—%—(4) y———éT

(1) y=-2x @ =% () HAEK =2 @ =4

(1) 9 (2) 9.5
_8 __
(1) y=" (2) y=—2x (3) 16

(1) BG6, 4 (2) Ba2, 8 (3) 4—‘9’0

(1) y=%x 2) 3

[#E] ©hf - HIRT A b TARRERE

50 144

(1) y=4xTAa] (2) y==r Bl (3) y==- Bl (4) y=200x+50 I'C]

(1) xD2E3FBICHBE y L 2BI3BICHLTEY., ylExITHHIT S,

EDT. xH10HD 40 & 4EICEBE, y B AMD 16 &£ 4 EICRBIITRHDT,

=16 Ebh B,

_2

(1) y=-3x (2) x=—§ 4| (HIR) @

_1 __ _8 __12
®y—2x @y=-3x © y=-_ @y .

® @

(1) y=% 2) y=2 (3) x=9

(1) y=—2¢ 7) =2 (2) y=12 (1) = %

(1) yExDBAENZSE (2) 0=x=15 | 0=y=45 (3) y=45—3x (4) 1 P&

ONE)

Y

Se HOEmrsE

Bl



<H1
5 FmEXTE

EWT A x>

— iR —

8 MORE T PGIAGE S5

DEHR RS

(1) ELLY 2) ELL WL

[E ] @OxPrizXIE

QFEH @LABC (XIXZLCBA)

(1) WLBAC (XI£ZCAB) @ZCAD (XIEZDAC) (2) ADLAB (3) AD/BC

1{(1) 3& (2) 2& (3) 4& (4) 6& (5) EHX
2| gomamn (@ ) swwsew (@ ) RIECLR) (0.0 )
3 (1) i (2)
[7EE] OfEX
1 2 A 3
N
: \ 4
o B i,
l & " —
[EE] @O,
1{(1) &8 (2) 89 FD (3) ZLF
2|(1) AE (2) x#¥# (3) EE (CFL/)

(1) £F (2) 90 EE (3) &% FO

Se HeEmtsEnT



<H L EBIT A MRER> —fiE—

[#E] OneEE
(1) F7. [ Q) #5. £EH () EE-ZHE. “Z54H (4) 3. AB. &

(1) ADLBC (2) fix: ZABD, fiy: LZCAD (3) fAx:65 . fy:50°

A D

() 5B ) BEE=%48 () AO-$58 A&

B E

(1) 30° (2) 150°

(1) 58 (2) ®HHOHFD 3) ARHBE

C
P D
A I\ B
@
Q>®
©) @
O 91 B
@/'
l | [
A e
(1) ZAOB=60° (2) ZAOB=30° (3) ZAOB=45°
A @
O} ® @ ®
>& A
®
®

Se HeEmtsEnT



<H L EBIT A MRER> —fiE—

[#E] @ - HIRT 2 b FARREEE

(1) OE&AB O#45H AB OHFEH AB (2) WAB/CD QABLCD OE#H
3) OBE-Z4% O%EHE O=%4% 4 OMAB QOAB O AB
(5) UK OEA O=E

(1) £4BCD (4DCB, ZCTH &LV (2) AD/BC (3) ABLBC (4) 3em (5) 40°

(1) ABCO, AODE (2) OF (FO) (3) ADOC (4) 240°

(1)

Se HeEmtsEnT



<l EHIT A MR > % —

6 2= X

[HE] QWANSRIZER

(1) =8 Q) E/NEHK Q) =A% 5HE. NA% : 5

EZ

DA T T DT T OO$L D% THROH
EMEH E=AE 41 o6& 48
IEVANTAEEN EFRE 61 12K 8m|
FENHEAE | E=AK 8if 12X (3]

E+=—@& | ELAF 12/ 304 201
EZdk | E=EAK 201 304 121

(7R ] QERR - OALE IR

(1) 6& (2) 4@

(1) B CG, ADH, TAE (2) il AE, L DH, 4 AB, i DC (3) & AEHD, @ BFGC, @ ABCD, & EFGH

(4) EDCGH (5) iDL EF, A FG, il GH, i EH (6) il AE, i BF, il CG, 4 DH

(8] GBI

(A)

(D)
(1) ENE& 2) ® 3 - N

(A) B (C) (D) (A)

(1) 1em (2) 2cm

(E)

(E F G (H)

(58] @mi & (R,

#® 240(cm’), REHR 288(cm’)

¥ 96z (cm’), REE 967 (cm’)

i 1447 (cm’), REFE 1087 (cm?)

[5] GRlaik

(1) 127 (em®) (2) 247z (em?) (3) 216°

Se HeEmtsEnT



<l EHIT A MR > % —

21(1) 5B (2) 100% (cm®) ¢

[HE] ©&FZIX
1 () [ A | 2 [ =AM | G [ mAaE |
2 (1) FIg

(2) &R

(3) % = 12z (em®) EEE = 247 (cm?)

7
(1)
(6

(1)

@

@

i H] OE

il D

E (2) @ DEF (3) H ABC. & DEF (4) il DF, A EF. A CF (5) i AB.
) EABC & DEF

(1) M (2) 96x (cm’) (3) 967 (cm?)
(1) Em@E#E 2) ERB

(1) B#9cm (2) REHE 367(cm’)

300 - (em®) (2) 100% (em?) (3) 250x (em’) (4) 1507 (cm?)

3

(1) mfhgk (2) 24(cm’)

i BC, 1 AC

Se HOEmrsE

Bl



<H L EBIT A MRER> —fiE—

[7EE] ©hfE - HIRT 2 b FARREEE

(1) D3| Q@%hd OFfF OFHELIZHD O%hd OFfT

2) OEmE# OE/NEH#H OE+-M@E# OE=ZFAK OGc@F) ©4dE) DE=HWK
®12(F) Os (@)

3) OxEE OFmE O]’ER

(1) EH# HG, E# EF, EH# BF, Eff CG (2) EH# AD, H#E BC, E#E AE, Hi& BF

(3) EH# AD, E# FG, EEEH (4) HEEEF, EHEFG, HEGH, EHEH

(5) @ EFGH, @ BCGF (6) ® ABCD, ® EFGH

(1) mgE (2) 1200  (3) 16mem?

(1) 100zem® (2) 657zcm?®

e 2
(1) 2 1% (2) ?{%

(1) 180° (2) % 127cm’. FREFE 207cm?

7=D, 41=F

Se HeEmtsEnT



<1 EHIT A RER> —fR%—

T EROHMLITY ERFEH

[ ] OO A

LD ey i®®) [ me |
Lk SR
30~40 2
40~50 3 <L).X ]_\7“3.5»
50~60 4 ()\)
60~70 7
70~80 5 5
80~90 2
90~100 1
at 24 |

30 40 50 60 70 80 90 100 (A%
(2) 5|  (3) 9A (4) 0.04

[7E] @V ¥1E

1{(1) 162.5cm (2) 162.5cm (3) 160.9cm

210(1) 6| (2) 55/ (3) 53 /4

[E ] @UT{PlE & e

2 __1 <
1{(1) 15 (2) 30 (3) 3.35=5a<3.45

4) BHBF 1&3. EREFOT42H 274, RLA 13x10°

21(1) B%#=F: 2.5 RLA:25%10° (km) (2) EHEF:1.2,0 RLAF:1.20%10 (g)

(3) EHEF :8.7.0 FLA:8.70x% ﬁ(g) (4) A%%E=F : 3.1 ibﬁ:&l)(ﬁ(mz)

(7R ] @A

1[(1) 0.3 (2) 57.5kg (3) 55kg (4) 54.375 (kg)

(5) UN)

40 45 50 55 60 65 70 (kg

21(1) 344 (2) 3.80x10°

Se HeEmtsEnT



<H L EBIT A MRER> —fiE—

[ ] ©FH - HIERT 2 b PR EREE

O OBERE OEH OEESTER

(1) 455=a<4.65 (2) 14.95=4a<15.05

(1) 54.4kg (2) 50.0kg LLE 54.0kg K

(1) 15m (2) 4|\

(1) 225m  (2) x=0.06, y=0.12

(1) 22m  (2) 21.5m

(1) 7=8, £ =714 (2) 30kg

Se HeEmtsEnT



